efficiency efficiency efficiency

efficiency

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6

=

0.9
0.8
0.7
0.6
0.5

=

0.9
0.8
0.7
0.6
0.5

- 00000009000000000057550000009000%¢9%00000000000%000%00000%%,
wheel -2 chamber 2 sector 12 sl 3 layer 4 I
10 20 dU—I 4050&9
203iooo.oioiooooioooi.ioooi..o.oooionoioiioooooi.ooioooooo.=
wheel -2 chamber 2 sector 12 sl 3 layer 3 I
10 20 30 40 50 )
@.ii.‘ (Y AAZ X2 T X A A X T A A A T X A T A AT M T I X A A XA T Y JJ X I Iy 1AL T)
wheel -2 chamber 2 sector 12 sl 3 layer 2 I
10 0 cio) 40 50 60
I A T A A DA A A LA A A AT T I A A T A A A T A T A L A A T AT )
wheel -2 chamber 2 sector 12 sl 3 layer 1 I

TO 70 <ol

40 50 g8



